[image: image1.png]20. (a) Show that formula (27) for the secant method is algebraically equivalent to
—— Pi—1.f (px) — pif (Pi—1)
Fpi) = f(pr—1)

(b) Explain why loss of significance in subtraction makes this formula inferior for
computational purposes to the one given in formula (27).




The formula (27):

[image: image2.png]Example 2.16 (Secant Method at a Simple Root).  Start with po = —2.6 and
p1=-2. 4 and use the secant method to find the root p = —2 of the polynomial function
o) =x3—3x42.

In this case the iteration formula (27) is
(Pk 3pk+ 2)(pr — pr— 1)
I’k Pk 1~ 3Pk + 3pk—1

(27) P+t = &Pk, Pk—1) = pr —




(The problem is from Newton-Raphson and Secant Methods.)

